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i) General Awareness

i) lkekU; tkudkjh

1. Who was the first Indian to go into space?

varfj{k esa tkus okyk igyk Hkkjrh; dkSu Fkk\
(a) Satish Dhawan/lrh'k /ou
(b) Ravi Malhotra/jfo eygks=kk
(c) Rakesh Sharma/jkds'k 'kekZ
(d) None of the above/Åijh dksbZ ugha

2. Who wrote 'Dragons Seed?

^MªWxkWul~ lhM* fdlus fy[kh\
(a) Pearl S. Buck/iyZ ,l- cd
(b) Shakespeare/'ksDlfi;j
(c) Shelley/'ksys
(d) Keats/dhV~l

3. The Paratroopers Training School off the Indian
Air Force, is located at

Hkkjrh; ok;q lsuk dk Nrjh&lSfud izf'k{k.k Ldwy ;gk¡
fLFkr gS
(a) Nasik/ukfld (b) Agra/vkxjk
(c) Pune/iq.ks (d) Dehradun/nsgjknwu

4. Bismillah Khan is associated with

fclfeYyk [kku blls lEcfU/r gS
(a) Tabla/rcyk (b) Sarod/ljksn
(c) Flute/ljksn (d) Shehnai/'kgukbZ

5. The famous Meenakshi temple is in

izfl¼ ehuk{kh eafnj gS
(a) Gujarat/xqtjkr
(b) Orissa/vksfM'kk
(c) Maharashtra/egkjk"Vª
(d) Tamil nadu/rfeyukMw

6. Christopher Alan Bayly, who passed away,
recently wa a famous _______

fØLrksiQj ,yu csyh ftudk gky gh esa fu/u gqvk]
,d izfl¼ _______ FksA
(a) Actor/vfHkusrk
(b) Historian/bfrgkldkj
(c) Economist/vFkZ'kkL=kh
(d) Journalist/i=kdkj

7. In which country Asla African Business Summit
kicked off on 21 April 2015?

fdl ns'k esa 21 vizSy 2015 ds fnu ,f'k;k vÚhdk
O;kikj lEesyu 'kq# gqvk\
(a) Sri Lanka/Jhyadk (b) Bangladesh/ckaXykns'k
(c) Indonesia/baMksusf'k;k (d) Singapore/flaxkiqj

8. The Lal Bahadur Shastri Academy which trains
Indian Administrative Services officers is situated at

Hkkjrh; iz'kklu lsok ds viQljksa ds izf'k{k.k nsusokyh
laLFkk yky cgknqj 'kkL=kh vdkneh ;gk¡ fLFkr gS
(a) Mussoorie/elwjh
(b) Dehradun/nsgjknwu
(c) Srinagar/Jhuxj
(d) Khandala/[kaMkyk

9. Late Sri K. Shankar Pillai was associated with
which of the following fields?

LoxZoklh Jh ds- 'kadj fiYybZ fuEu esa ls fdlls
lEcfU/r Fks\
(a) Social Service/lekt lsok
(b) Music/laxhr
(c) Cartooning/O;axfp=k
(d) Motion picture/pyufp=k

10. Who among the following is a famous tabla
player?

fuEu esa ls dkSu izfl¼ rcyk oknd gS\
(a) Ali Akbar Khan/vfy vdcj [kku
(b) Birju Maharaj/fcjtw egkjkt
(c) Ravi Shanker/jfo 'kadj
(d) Swappan Kumar/Loiu dqekj

11. Which country generates highest per capita-e-
waste?

dkSulk ns'k vf/dre izfrO;fDr bZ&dwM+k iSnk djrk gS\
(a) Singapore/flaxkiwj
(b) Norway/ukWosZ
(c) Iceland/vkblySaM
(d) Denmark/MsuekdZ

12. Which of the following is indian navy's biggest
guided missile  destroyer?

fuEu esa ls Hkkjrh; ukS&lsuk dk lcls cM+k xkbMsM
felkby èoald dkSulk gS\\
(a) INS Visakhapatnam/vkb,u,l fo'kk[kkiVue~
(b) INS Paradip/vkb,u,l ikjkfni
(c) INS  Marmagoa/vkb,u,l ekekZxksok
(d) INS Kolkata/vkb,u,l dksydkrk
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13. E-Samiksha is an online project monitoring
system launched by _______

bZ&leh{kk ;g ;kstuk ekuhVj djus dh i¼fr gS] ftls
bls 'kq# dh
(a) Indian Railways/Hkkjrh; jsyos
(b) NHAI
(c) RBI
(d) FIPB

14. Guru Gopi Krishna was a maestro of which of
the following dance forms?

xq# xksih Ñ".k fuEu esa ls fdl uR̀; izdkj ds fo}ku Fks\
(a) Manipuri/ef.kiqjh
(b) Bharatnatyam/HkjrukV~;e
(c) Kuchipudi/dqfpiqMh
(d) Kathak/dFkd

15. Shiv Kumar Sharma is a famous player of

f'ko dqekj 'kekZ blds izfl¼ oknd gS
(a) Sitar/flrkj (b) Flute/ckalqjh
(c) Tabla/rcyk (d) Santoor/larwj

16. The largest dry dock in India is situated at

Hkkjr dh lcls cM+h futZy xksnh ;gk¡ fLFkr gS
(a) Cochin/dksfpu
(b) Marmagoa/ekekZxksok
(c) Kolkata/dksydkrk
(d) Mumbai/eqEcbZ

17. India's first Ladies Special Sub-urban train was
started by which of the following zones of Indian
Railways?

Hkkjr dh igyh efgyk fo'ks"k miuxjh; jsyxkM+h Hkkjrh;
jsy ds fuEu esa ls dkSu ls e.My us 'kq# dh\
(a) Northern/mÙkjh (b) Western/if'peh
(c) Central/eè; (d) Southern/nf{k.kh

18. Which state of India is known for highest per
capita alcohol consumption?

Hkkjr dk dkSulk jkT; vR;f/d izfrO;fDr nk: dh
[kir ds fy, ekuk tkrk gS\
(a) Gujarat/xqtjkr
(b) Kerala/dsjy
(c) Tamil Nadu/rfeyukMq
(d) Telangana/rsyaxkuk

19. World Earth Day is observed on which of the
following days?

fuEu esa ls fdl fnu fo'o /jrh fnol euk;k tkrk gs\

(a) April 20/20 vizSy
(b) April 21/21 vizSy
(c) April 22/22 vizSy
(d) April 23/23 vizSy

20. Recently, the European Union has proposed a
10 point action plan to stem _______

gkygh esa ;qjksih; la?kus bls jksdus ds fy, 10 lw=kh
dk;Z ;kstuk dk izLrko j[kk
(a) Terrorism/ng'krokn
(b) Migrant crisis/izoklh ladV
(c) Child labour/cky Jfed
(d) Woman harassment/efgyk mRihM+u

21. Which bank announced the launch of "Tap n
Pay" new innovative NFC (Near Field
Communication) based contactless payment
system?

fdl cSad us ^VSi ,u is* uked ubZ vfHkuo ,u,iQlh
(uh;j fiQYM dE;qfuds'ku) vk/kfjr Li'kZjfgr Hkqxrku
i¼fr dh ?kks"k.kk dh\
(a) Axis Bank/,fDll cSad
(b) HDFC Bank/,pMh,iQlh cSad
(c) ICICI Bank/vkblhvkblhvkb cSad
(d) Corporation Bank/dkWiksZjs'ku cSad

22. The Pollution Management and Environmental
Health (PMEH) program has been launched by
which of the following Bodies?

fuEu esa ls fdl fudk; us iznw"k.k O;oLFkk vkSj i;kZoj.kh;
LokLF; (PMEH) dk;ZØe dh 'kq#vkr dh\
(a) United Nations/la;qDr jk"Vª
(b) World Bank/fo'o cSad
(c) Asian Bank/,f'k;u cSad
(d) European Union/;wjksih; la?k

23. Janaki Ballabh Patnaik, who died recently, was a
former chief minister of which state?

tkudh oYyHk iVukbZd] ftudk gky gh esa fu/u gqvk]
fdl jkT; ds HkwriowZ&eq[;ea=kh Fks\
(a) Bihar/fcgkj
(b) Odisha/vksfM'kk
(c) West Bengal/if'pe caxky
(d) Jharkhand/>kj[k.M

24. Which State recently launched the campaign
'Subodham' to help people overcome alcohol,
drug abuse?
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nk: vkSj u'khyh nok ds f'kdkj yksxksa ds fy, fdl
jkT; us gky gh esa ̂ 'kqHks/e~* vfHk;ku dh 'kq#vkr dh\
(a) Kerala/dsjy
(b) Gujarat/xqtjkr
(c) Madhya Pradesh/eè; izns'k
(d) Karnataka/dukZZVd

25. Recently, which country has agreed to hold first
ever joint military exercise with Pakistan?

gkygh esa fdl ns'k us ikfdLrku ds lkFk igyh la;qDr
lSfud dok;n djus ij lgefr n'kkZb gS\
(a) Russia/#l
(b) Japan/tkiku
(c) Bangladesh/ckaXykns'k
(d) Nepal/usiky

26. Which of the following stadia is India's first solar
powered sporting venue?

fuEu esa dkSulk LVsfM;e Hkkjr dk igyk lkSj ÅtkZ ls
ySl [ksy LFkku gS\
(a) Wankhede stadium, Mumbai

oku[ksMs LVsfM;e] eqEcbZ
(b) Chinnaswamy Stadium, Bengaluru

fpUukLokeh LVsfM;e] csaxyq#
(c) Eden Garden Stadium, Kolkata

bMu xkMZu LVsfM;e] dksydkrk
(d) Feroz Shah Kotla Stadium, New Delhi

fiQjkst'kkg dksVyk LVsfM;e] ubZ fnYyh
27. In terms of number of subscribers, the top

telecom operater in the World is

fo'o esa xzkgd dh la[;k ds vk/kj ij lcls cM+k
VsysdkWe izpkyd dkSu gS\
(a) China mobile/pk;uk eksckby
(b) Vodafone/oksMkiQksu
(c) Airtel/,;jVsy
(d) Telefonia/VsfyiQksfu;k

28. Bidyut Chakraborty, who passed away recently,
was famous film director in which language?

fo|qr pØorhZ ftudk gky gh esa fu/u gqvk gS] fdl
Hkk"kk ds izfl¼ fiQYe funsZ'kd Fks\
(a) Telugu/rsyqxq (b) Assamese/vklkeh
(c) Tamil/rfey (d) Marathi/ejkBh

29. What is the average Intelligence Quotient (IQ)
of normal persons?

lkekU; O;fDr dk vkSlr ckSf¼d Lrj (vkbZ-D;q-)
fdruk gksrk gS\

(a) 100 to 120/100 ls120
(b) 90 to 110/90 ls 110
(c) 70 to 130/70 ls 130
(d) 50 to 100 /50 ls 100

30. In which country Prime Minister Modi
Inaugurated Hannover Industrial Fair-2015?

gSuksoj m|ksx esyk&2015 dk mn~?kkVu iz/ku ea=kh eksnh
us fdl ns'k esa fd;k\
(a) Canada/dukMk
(b) Germany/teZuh
(c) France/Úkal
(d) South Africa/nf{k.k vÚhdk

31. Apurvi Chandela is related to which among the
following sports?

viwfoZ pUnsyk fuEu esa ls fdl [ksy ls lEcfU/r gS\
(a) Shooting/'kwfVax
(b) Tennis/Vsful
(c) Badminton/cSMfeaVu
(d) Wrestling/dq'rh

32. The Parliament of Bangladesh is known as

ckaXykns'k dh laln dks dgrs gSa
(a) National Assembly/jk"Vªh; lHkk
(b) National Parliament/jk"Vªh; laln
(c) Jatiya Sansad/tkfr;k laln
(d) Rashtriya Panchayat/jk"Vªh; iapk;r

33. Mark is the currency of

ekdZ bl ns'k dh eqnzk gS
(a) England/baXyS.M (b) Germany/teZUkh
(c) Ireland/vk;jySaM (d) France/Úkal

34. Who is the first woman legislator in India?

Hkkjr dh igyh efgyk fo/k;h dkSu gS\
(a) Tara Cherian/rkjk psfj;u
(b) Cornelia/dksuZsfy;k
(c) Muthulakshmi Reddy/eqFkqy{eh jsM~Mh
(d) Anna Chandy/,uk pkUMh

35. Which type of ancient script did he Harappans
use?

gjIikoklh fdl izdkj dh izkphu fyfi dk mi;ksx
djrs Fks\
(a) Pictographic/fp=kfyfi
(b) Linear/js[kh;
(c) Symbolic/lkadsfrd
(d) Hieroglyphic/izrhdkRed
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36. Where is the longest railway platform in the
world?

fo'o dk lcls yEck jsyos IysViQkWeZ dgk¡ gS\
(a) Kolkata/dksydkrk (b) Kanpur/dkuiqj
(c) Kharagpur/[kjxiqj (d) Chennai/psUubZ

37. Operation Blue star is associated with

vkWijs'ku Cyw LVkj blls lEcfU/r gS
(a) Heart transplant in blue babies

uotkr f'k'kq esa ân; lEcU/h chekjh ds fy, ân;
izfrjksi.k

(b) Israeli attack on Lebanon/yscuku ij blsZy dk
geyk

(c) Military action in Goldern Temple/Lo.kZ eafnj
esa lSfud dkjZokbZ

(d) None of these/buesa ls dksbZ ugha
38. Ramman is a religious festival and ritual theatre

of ______.

jEeu ;g bl jkT; dk /kfeZd lekjksg vkSj vuq"Bku
ukV~; dyk gS
(a) Uttarkhand/mÙkjk[kaM
(b) Uttar Pradesh/mÙkj izns'k
(c) West Bengal/if'pe caxky
(d) Madhya Pradesh/eè;izns'k

39. Meenakshi Madan Rai has been appointed as
first woman judge of which court?

ehuk{kh enu jk; dh fdl U;k;ky; dh izFke efgyk
U;k;k/h'k ds :i esa fu;qfÙkQ gqbZ gS\
(a) Delhi High Court/fnYyh mPp U;k;ky;
(b) Allahabad High Court/bykgkckn mPp U;k;ky;
(c) Sikkim High Court/flfDde mPp U;k;ky;
(d) Karnataka Hight Court/dukZVd mPp U;k;ky;

40. The President of  World Bank has been
nominated by the _________.

fo'o cSad ds vè;{k ges'kk blds }kj euksuhr fd;s
tkrs gSa
(a) European Union/;qjksih; la?k
(b) United Nations/la;qDr jk"Vª
(c) United States/vesfjdk
(d) European Commission/;qjksih; vk;ksx

(ii) General Intelligence and Reasoning Ability

(ii) lkekU; cqf¼eÙkk rFkk rkfdZr ;ksX;rk

41. Based on the following statements.
Which is the correct conclusion drawn. Only
gentlemen can become members of the club.
Many of the members of the club are officers.
Some of the officers have been invited for dinner.

fuEu dFkuksa ds vk/kj ij lgh fu"d"kZ dkSu lk gS\
dsoy lTtu gh Dyc ds lnL; gks ldrs gSaA
Dyc ds dbZ lnL;] viQlj gSaA dqN viQljks dks [kkus
ij cqyk;k x;k gSA
(a) All the members of the club have been

invited for dinner/DyCk ds lHkh lnL;ksa dks
[kkus ij cqyk;k x;k gS

(b) Some of the officers are not gentlemen/dqN
viQlj lTtu ugha gS

(c) All gentlemen are members of the club/lHkh
lTtu  Dyc ds lnL; gSaA

(d) Only gentlemen have been invited for

dinner/dsoy lTtuksa dks [kkus ij cqyk;k x;k gS
42. Of the following two statements, both of which

cannot be true, but both can also be false, which

are these two statements?

fuEu esa ls nks dFku tks nksuksa lgh ugha gks ldrs ysfdu
nksuksa xyr Hkh gks ldrs gSaA og nks dFku dkSuls  gSa\
I. All machines make noise/lHkh e'khusa 'kksj mRiUu

djrh gS
II. Some machines are noisy/dqN e'khusa 'kksj epkus

okyh gksrh gSaa
III. No machines are not noisy/dksbZ Hkh e'khu 'kksj

mRiUu ugha djrh
IV. Some machines are not noisy/dqN e'khussa 'kksj

epkus okyh ugha gksrh
(a) I and II/I vkSj II
(b) III and IV/III vkSj IV
(c) I and III/I vkSj III
(d) II and IV/II vkSj IV

43. There are eight poets, namely. A, B, C, D, E, F, G
and H in respect of whom questions are being
asked in the examination. The first four are
ancient poets and the last four are modern
poets, The question on ancient and modern
poets is being asked in alternate years. Those
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who like H also like G, those who like D like C
also. The examiner who sets question is not likely
to ask question on D because he has written an
article on him. But he likes D. Last year a question
was asked on F. Considering these facts, on
whom the question is most likely to e asked this
year?

A, B, C, D, E, F, G vkSj H ;g vkB dfo gSa ftuds ckjs
esa ijh{kk esa iwns tkrs gSaA igys pkj dfo izkphu gSa vkSj
vkf[kjh pkj vk/qfud dfo gSaA izkphu vkSj vk/qfud
dfo ij iz'u ckjh&ckjh o"kksZa esa iwNs tkrs gSaA ftUgsa H

ilUn gS mUgsa G Hkh ilUn gS vkSj ftUgsa D ilUn gS os
C-dks Hkh ilUn djrs gSaA ijh{kd] ftlus iz'ui=k cu;k
gSA pq¡fd mlus D ij ,d ys[k fy[kk gS blhfy, mlds
D ij iz'u u iwNus dh lEHkkouk gSA ysfdu mls ilUn
D fiNys gSA fiNys o"kZ F ij iz'u iwNk x;k FkkA bu
rF;ksa dks è;ku esa j[krs gq,] bl o"kZ fdl ij iz'u iwNs
tkus dh vR;f/d laHkkouk gS\
(a) B (b) C
(c) D (d) G

44. In a family there are husband wife, two sons and
two daughters. All the ladies were invited to a
dinner. Both sons went out to play. Husband did
not return from office. Who was at home?

,d ifjokj esa ifr] iRuh nks csVs vkSj nks csfV;k¡ gSaA lHkh
efgykvksa dks Hkkst ij vkeaf=kr fd;k x;k FkkA nksuksa csVs
kgj [ksyus fudy x;s FksA ifr nÝrj ls okil ugha vk
ldk FkkA ?kj ij dkSu Fkk\
(a) Only wife was at home/dsoy iRuh ?kj ij Fkh
(b) All ladies were at home/lHkh efgyk,¡ ?kj ij FkhA
(c) Only sons were at home/dsoy csVs ?kj ij Fks
(d) Nobody was at home/?kj ij dksbZ ugha Fkk

45. A man is facing west. He turns 45 degree in the
clockwise direction and then another 180
degree in the same direction and then 270
degree in the anticlockwise direction. Find which
direction he is facing now?

,d O;fÙkQ if'pe fn'kk dh vksj vfHkeq[k gSA og
nf{k.kkorZ 45 fMxzh ?kqerk gS vkSj fiQj 180 fMxzh mlh
fn'kk esa ?kqerk gSA ckn esa og okekorZ 270 fMxzh ?kqerk
gSA og fdl fn'kk ls vfHkeq[k gS\
(a) South-West/nf{k.k&if'pe
(b) West/if'pe
(c) South/nf{k.k

(d) East-South/iwoZ&nf{k.k
46. A man is facing north. He turns 45 degree in the

clockwise direction and then another 180
degree in the same direction and then 45 degree
in the anticlockwise direction. Find which
direction he is facing now?

,d vkneh mÙkj dh vksj vfHkeq[k gSA og nf{k.kkorZ
45 fMxzh ?kqerk gS vkSj mlh fn'kk esa fiQj 180 fMxzh
?kqerk gSA ckn esa og 45 fMxzh okekorZ fn'kk esa ?kqerk
gSA irk yxkb, fd vc og fdl fn'kk dh vksj
vfHkeq[k gS\
(a) North/mÙkj (b) East/iwoZ
(c) West/if'pe (d) South/nf{k.k

47. One day, Raviraj left home and cycled 20 km
southwards

,d fnu jfojkt viuh lkbdy ij nf{k.k fn'kk dh
vksj 20 fdeh- x;k] nkfguh vksj eqMdj 10 fdeh- x;k
fiQj nkfguh vksj eqMdj 20 fdeh- lkbfdfyax dh vkSj
vUr esa ck;ha vksj eqMdj og 20 fdeh- rd x;kA mls
vius ?kj igq¡pus ds fy, lh/h fn'kk esa fdrus fdeh-
tkuk gksxk\
(a) 50 km (b) 30 km
(c) 40 km (d) 60 km

48. Kunal walks 10 km towards North. From there
he walks 6 km towards South. Then, he walks 3
km towards east. How far and in which direction
is he with reference to his starting point?

dquky mÙkj fn'kk dh vksj 10 fdeh- pyrk gSA ogk¡ ls
og nf{k.k dh vksj 6 fdeh- pyrk gSA fiQj og iwo
fn'kk dh vksj 3 fdeh- tkrk gSA vius vkjfEHkd fcUnq
ls vc og fdruh nwjh ij gS vkSj fdl fn'kk esa gSa\
(a) 5 km North/5 fdeh- mÙkj
(b) 5 km South/5 fdeh- nf{k.k
(c) c/5 fdeh- iwoZ
(d) 5 km North-East/5 fdeh- mÙkj&iwoZ

49. A man walks 1 km towards East and then he
turns to South and walks 5 km. Again he turns
to East and walks 2 km, after this he turns to
North and walks 9 km, how far is he from his
starting point?

,d O;fÙkQ iwoZ fn'kk dh vksj 1 fdeh- pyrk gSA fiQj
nf{k.k dh vksj eqM+dj 5 fdeh- pyrk gSA fiQj og iwoZ
dh vksj eqMdj 2 fdeh- tkrk gSA bld ckn og mÙkj
fn'kk esa eqM+dj 9 fdeh- tkrk gSA vc og vkjfEHkd
fcUnq ls fdruh nwjh ij gS\
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(a) 3 km (b) 4 km
(c) 5 km (d) 7 km

50. Laxman went 15 kms to the west from my house,
then turned left and walked 20 kms. He then
turned East and walked  25 kms and finally
turning left covered 20 kms. How far was he from
his house?

esjs ?kj ls y{e.k if'pe fn'kk dh vksj 15 fdeh- x;k
fiQj ck;ha vksj ?kqedj 20 fdeh- pykA fiQj og iwoZ
fn'kk dh vksj eqM+dj 2 fdeh- tkrk gSA vc og
vkjfEHkd fcUnq ls fdruh nwjh ij gS\
(a) 5 kms (b) 10 kms
(c) 40 kms (d) 80 kms

51. From his house, Lokesh went 15 kms to the
North. Then he turned West and covered 10
kms. Then, he turned South and covered 5 kms.
Finally, turning to East, he covered 10 kms. In
which direction is he from his house?

vius ?kj ls yksds'k mÙkj fn'kk dh vksj 15 fdeh- x;kA
ckn esa if'pe fn'kk esa eqMrs gq, mls 10 fdeh- nwjh r;
dhA fiQj og nf{k.k fn'kk dh vksj 5 fdeh- x;kA vUr
esa og iwoZ dh vksj 10 fdeh- pykA vius ?kj ls vc
og fdl fn'kk esa gSa\
(a) East/iwoZ (b) West/if'pe
(c) North/mÙkj (d) South/nf{k.k

52. A walks 10 metres in front and 10 metres to the
right. Then every time turning to his left, he
walks 5, 15 and 20 metres respectively. How far
is he now from his starting point?

A ;g 10 ehVj vkxs pydj 10 ehVj nkfguh vksj
pyrk gSA ckn esa gj oDr ck;h vksj ?kqers gq, og
Øe'k% 5] 15 vkSj 20 ehVj tkrk gSA vc og vkjfEHkd
fcUnq ls fdruh nwjh ij gS\
(a) 5 metres/5 ehVj
(b) 10 metres/10 ehVj
(c) 20 metres/20 ehVj
(d) 23 metres/23 ehVj

53. Here are some words translated from an artificial
language.

;gk¡ ,d Ñf=ke Hkk"kk esa :ikUrfjr fd;s x;s dqN 'kCn
fn;s x;s gSa
dlonot means oak tree

dlonot dk eryc gS vksd o`{k
blyonot means oak leaf

blyonot dk eryc gS vksd o`{k dk iÙkk

blycrin means maple leaf

blycrin dk eryc gS esiy o`{k dk iÙkk
Which word could mean "maple syrup"?

^^esiy flji** ds fy, dkSulk 'kCn gksxk\
(a) Blymuth (b) Hupponot
(c) Patricrin (d) Crinweel

54. Here are some words translated from an artificial
language.

;gk¡ ,d Ñf=ke Hkk"kk esa :ikUrfjr fd;s x;s dqN 'kCn
fn;s x;s gSa
tamceno means sky blue

tamceno dk eryc gS LdkbZ Cyw
cenorax means blue cheese

cenorax dk eryc gS Cyw pht
apimiti means star bright

apimiti dk eryc gS LVkj czkbV
Which word could mena "bright sky"?

^^czkbV LdkbZ** ds fy, dkSulk 'kCn gksxk\
(a) Cenotam (b) Mittam
(c) Raxmiti (d) Apiceno

55. Here are some words translated from an artificial
language.

;gk¡ ,d Ñf=ke Hkk"kk esa :ikUrfjr fd;s x;s dqN 'kCn
fn;s x;s gSa
gemolinea means fair warning

gilagerl dk eryc iQsj okWfuZax gS
gerimitu means report card

gilagerl dk eryc gS fjiksVZ dkMZ
gilagerl means weather report

gilagerl dk eryc gS osnj fjiksVZ
Which word could mean "fair weather"?

^iQsj osnj* ds fy, dkSulk 'kCn gksxk\
(a) Gemogila
(b) Gerigeme
(c) Gemomitu
(d) Gerimita

56. Here are some words translated from an artificial
language.

;gk¡ ,d Ñf=ke Hkk"kk esa :ikUrfjr fd;s x;s dqN 'kCn
fn;s x;s gSa
star means jump

star dk eryc gS tai
slary means jumping

slary dk eryc gS tafiax
slarend means jumped
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slarend dk eryc gS taIkM
Which word could mena "Playing"?

^Iysbax* ds fy, dkSulk 'kCn gksxk\
(a) Clargslarend
(b) Clergy
(c) Ellaclarg
(d) Slarmont

57. R * T J L 2 $ D = M # 8 C % B < K 1 &
A W ? P E + Q @ 7 F 6
How many such numbers are there in the above
sequence. each of which is immediately
preceded by a consonant and immediately
followed by a symbol?

Åijh J`a[kyk esa ,slh fdruh la[;k,¡ gSa ftlds igys
O;atu gS vkSj rqjUr ckn ,d fpUg gS\
(a) Nil/dksbZ ugha
(b) One/,d
(c) Three/rhu
(d) None of these/buesa ls dksbZ ugha

58. R * T J L 2 $ D = M # 8 C % B < K 1 &
A 2 ? P E + Q @ 7 F 6
Which of the following is sixth to the left of
eighteenth element from the left?

fuEu esa dkSu ck;ha vks ls vBkjosa ?kVd ds ck;ha vksj
NBk gS\
(a) % (b) C
(c) 1 (d) 8

59. R * T J L 2 $ D = M # 8 C % B < K 1 &
A 2 ? P E + Q @ 7 F 6
If the above sequence is written in reverse order
then which of the following will be sixth to the
right of sixteenth element from the right end?

;fn Åijh J`a[kyk mYVh fy[kh tkrh gS rks fuEu esa ls
dkSu nkfguh vksj ls lksygosa ?kVd ds nkfguh vksj NBs
LFkku ij gSa\
(a) M (b) A
(c) B (d) ?

60. R * T J L 2 $ D = M # 8 C % B < K 1 &
A 2 ? P E + Q @ 7 F 6
If the first fifteen elements in the above
sequence are written in reverse order, then
which of the following will be twenty-first from
the right end?

Åijh J`a[kyk esa igys iUnzg ?kVd mYVs fy[ks tkrs gSa]
rks nkfguha vksj ls fuEuu eas ls dkSu bDdhloka ?kVd
gksxk\

(a) 2 (b) $
(c) = (d) L

61. S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L
N 3 U V 5 Y a B 7 W 9
How many symbols are there in the above
arrangement each of which is immediately
preceded by but not immediately followed by a
letter of English alphabet?

Åijh foU;kl esa ,sls fdrus fpÞu gSa ftuds igys
ysfdu rqjUr ckn dksbZ vaxzsth o.kZekyk dk v{kj uk
vkrk gks\
(a) Nil/dksbZ ugha (b) One/,d
(c) Two/nks (d) Three/rhu

62. S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L
N 3 U V 5 Y a B 7 W 9
With the help of above series, find what should
come in place of question mark in the following
series?
S 9 K 6 W £ Q 7 2 ? C a F

Åijh J`a[kyk dh lgk;rk ls crkb, fd fuEu J`a[kyk esa
iz'u fpUg dh txg D;k vk;sxk\
S 9 K 6 W £ Q 7 2 ? C a F

(a) R Y *
(b) * Y C
(c) 2 B R
(d) R B *

63. S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L
N 3 U V 5 Y a B 7 W 9
If the positions of # and $ are interchanged so
also the positions of £ and  *, Q and K and F and
V are interchanged , which of the following will
be the ninth element to the left of eighteenth
element from the left?

;fn # vkSj $ dh fLFkfr vnyk&cny dh dh tkrh gS]
mlh izdkj £ vkSj *, Q vkSj K rFkk F vkSj V dh
fLFkfr vnyk&cny d tkrh gS] rks fuEUk esa dkSu ck;ha
vksj ls vBkjgosa ?kVd ls ck;ha vksj 9oka gksxk\
(a) C (b) V
(c) 8 (d) *

64. S K 6 £ Q 2 R * C F 8 E $ G 2 # 4 9 L
N 3 U V 5 Y a B 7 W 9
Four of the following five are alike in respect of
their positions in the above series. Which is the
one that does not belong to that group?

fuEUk pkj esa ls ik¡p Åijh J`a[kyk esa fLFkfr ds lUnHkZ
esa ,d tSls gSaA ml lewg ls lEcfU/r ugha jgus okyk
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dkSu gS\
(a) Q * 8 (b) £ R F
(c) 6 2 C (d) 2 * 8

65. Statements : The best evidence of India's
glorious past is the growing popularity of
Ayurvedic medicines in the West.

dFku % Hkkjr ds 'kkunkj Hkwr dk lcwr gS vk;qosZn
nokb;ksa dh if'peh ns'kksa esa c<+rh gqbZ yksdfiz;rkA
Conclusions :
I. Ayurvedic medicines are not popular in India.
II. Allopathic medicines are more popular in

India.

fu"d"k Z%
I. vk;qosZfnd nokb;k¡ Hkkjr esa yksdfiz; ugha gSa
II. ,yksisfFkd nokb;k¡ Hkkjr esa T;knk yksdfiz; gSa
(a) Only conclusion I follows/dsoy fu"d"kZ I ikyu

djrk gS
(b) Only conclusion II follows/dsoy fu"d"kZ II ikyu

djrk gS
(c) Either I or II follow/ I ;k II ikyu djrs gSa
(d) Neither I nor II follows/uk rks I ;k II ikyu

djrs gSa
66. Statements : Death keeps no calender.

dFku% eR̀;q viuk dSysaMj ugha cukrhA
Conclusions :
I. Man must die one day.

vkneh dks ,d fnu ejuk gS
II. Death can come at any time

eR̀;q fdlh Hkh le; vk ldrh gSA
(a) Only conclusion I follows/dsoy fu"d"kZ I ikyu

djrk gS
(b) Only conclusion II follows/dsoy fu"d"kZ II ikyu

djrk gS
(c) Either I or II follow/ I ;k II ikyu djrs gSa
(d) Both I and II follows/I vkSj II nksuksa ikyu djrs gSa

67. Statements: Wind is an inexhaustible source of
energy and an aerogenerator can convert it into
electricity. Though not much has been done in
this field, the survey shows that there is vast
potential for developing wind as alternative
source of energy.

dFku% gok ;g ÅtkZ dk ,d v{k; Ïksr gS vkSj mls
,jkstujsVj fctyh esa rcfny dj ldrk gSA tc dh bl
{ks=k esa cgqr dqN ugha gqvk gS] losZ{k.k crkrs gSa fd]

gok dks oSdfYid ÅtkZ dk Ïksr cukus esa foiqy
laHkkouk,¡ gSaaA
Conclusion :
I. Energy by wind is comparatively newly

emerging field.

gok ls ÅtkZ ;g vis{kkÑr u;k mHkjrk {ks=k gSA
II. The energy crisis can be dealt by exploring

more in the field of aero-generation.

,jks tujs'ku ds {ks=k esa T;knk vUos"k.k dj ÅtkZ&ladV
dk lkeuk fd;k tk ldrk gSA

(a) Only conclusion I follows/dsoy fu"d"kZ I ikyu
djrk gS

(b) Only conclusion II follows/dsoy fu"d"kZ II ikyu
djrk gS

(c) Either I or II follow/ I ;k II ikyu djrs gSa
(d) Both I and II follows/I vkSj II nksuksa ikyu djrs gSa

68. Statements : The best way to escape from a
problem is to solve  it.

dFku% leL;k ls tku NqMkus dk csgrj rjhdk gSA mls
gy djuk
Conclusions:/fu"d"k Z

I. Your life will be dull if you don't face a
problem.

vkidk thou uhjl gksxk ;fn vki fdlh leL;k
dk lkeuk ugha djrsA

II. To escape from problem, you should always
have some solutions with you.

leL;k ls NqVdkjk ikus ds fy, mldk gy vius
ikl gksuk pkfg,A

(a) Only conclusion I follows/dsoy fu"d"kZ I ikyu
djrk gS

(b) Only conclusion II follows/dsoy fu"d"kZ II ikyu
djrk gS

(c) Either I or II follow/ I ;k II ikyu djrs gSa
(d) Both I and II follows/I vkSj II nksuksa ikyu djrs gSa

69. BDEG : DFGI : : HKMO : _____
(a) ILNP (b) JMOP
(c) JMOQ (d) JNOQ

70. ACDF : CGJN : BEHI : _____
(a) DJNQ (b) DINQ
(c) DINR (d) DHNQ

71. SUWY : LPTX : PRT : _____
(a) INRU (b) INQU
(c) DINR (d) DHNQ
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72. BCDE : DFHH : : FGHI : _____
(a) LJPL (b) LKPL
(c) JKPL (d) IKPL

73. Find the odd one among the following

fuEu eas ls fo"ke dks igpkfu,A
(a) ZW (b) TQ
(c) SP (d) NL

74. Find the odd one among the following

fuEu eas ls fo"ke dks igpkfu,A
(a) CFD (b) GJH
(c) KNM (d) JMK

75. Find the odd one among the following

fuEu eas ls fo"ke dks igpkfu,A
(a) 125 (b) 25
(c) 3375 (d) 625

76. Find  the odd one among the following

fuEu eas ls fo"ke dks igpkfu,A
(a) 110 (b) 111
(c) 1000 (d) 1001

77. 1, 3, 7, 13, 21 ______
(a) 27 (b) 29
(c) 31 (d) 33

78. Look at this series : 2, 1, (1/2), (1/4), .....
What number should come next?

J`a[kyk 2, 1, (1/2), (1/4), ..... esa vxyh la[;k D;k
gksxh\
(a) (1/3) (b) (1/8)
(c) (2/8) (d) (1/16)

79. 4, 9, 16, 25, 36, _____
(a) 47 (b) 48
(c) 49 (d) 64

80. Look at this series : 22, 21, 23, 22, 24, 23, .....
What number should come next?

Ja[kyk 22, 21, 23, 22, 24, 23, .....  esa vxyh la[;k
D;k gksxh\
(a) 22 (b) 24
(c) 25 (d) 26

(iii) Aritmetical and Numerical  Ability

(iii) vadxf.krh; ,oa la[;kRed ;ksX;rk

81. Two cards are drawn at random from a pack of
52 cards. The probability that both are the cards
of spade is

52 iÙkksa dh xM~Mh ls 2 iÙks ;kn`PN;k fudkys tkrs gSaA
os nksuksa iÙks gqdqe ds gksa bldh laHkkO;rk gS

(a) 1/26
(b) 1/17a
(c) 1/4

(d) None of these/buesa ls dksbZ ugha
82. In a single throw off two dice, the probability of

getting more than 7 is

nks ik¡lksa ds ,d lkFk mNkyus ls 7 ls vf/d tksM ikus
dh laHkkO;rk gS
(a) 7/36 (b) 5/12
(c) 7/12 (d) 5/36

83. Two pipes A and B can fill a tank in 20 and 30
minutes respectively. If both the pipes are used
together, then how long will it take to fill the
tank?

A vkSj B ;g nks ikbi ,d Vadh dks Øe'k% 20 vkSj 30
feuV esa Hkj ldrs gSaA ;fn nksuksa ikbiksa dks ,d lkFk
mi;ksx esa yk;k tkrk gS] rks og Vadh fdrus le; esa
Hkjh tk;sxh\
(a) 12 min/12 feuV (b) 15 min/15 feuV
(c) 25 min/25 feuV (d) 50 min/50 feuV

84. A tap can fill a tank in 6 hours. After half the
tank is filled, three more similar taps are opened.
What is the total time taken to fill the tank
completely?

,d uy] Vadh dks 6 ?k.Vksa esa Hkj ldrk gSA vk/h Vadh
Hkjus ds ckn ,sls gh rhu uyksa dks [kksyk tkrk gSA og
Vadh iwjh rjg ls Hkjus ds fy, dqy fdruk le;
yxsxk\
(a) 3 hrs 15 min/3 ?k.Vs 15 feuV
(b) 3 hrs 45 min/3 ?k.Vs 45 feuV
(c) 4 hrs/4 ?k.Vs
(d) 4 hrs 15 min/4 ?k.Vs 15 feuV

85. A water tank is two fifth full. Pipe A can fill a
tank in 10 minutes and pipe B can empty it in 6
minutes, if bothh the pipes are open, how long
will it take to empty or fill the tank completely?

ikuh dh ,d Vadh 2@5 Hkjh gqbZ gSA A ikbi Vadh dks
10 feuV esa Hkj ldrk gS vkSj B ikbi mldks 6 feuV
esa [kkyh dj ldrk gSA ;fn nksuksa ikbiksa dks ,d lkFk
[kksyk tkrk gS] rks og Vadh iw.kZ rjg ls [kkyh ;k Hkjus
ds fy, fdruk le; yxsxk\
(a) 6 min to empty/[kkyh djus ds fy, 6 feuV
(b) 6 min to fill/Hkjus ds fy, 6 feuV
(c) 9 min to fill/Hkjus ds fy, 9 feuV
(d) None of these/buesa ls dksbZ ugha
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86. Pipe A can fill a tank in 5 hours, pipe B in 10
hours and pipe C in 30 hours. If all the pipes are
open, in how many hours will the tank be filled?

,d Vadh dks A ikbi 5 ?kaVksa esa] B ikbi 10 ?k.Vksa esa]
vkSj C ikbi 40 ?k.Vksa esa Hkj ldrk gSA ;fn rhuksa ikbiksa
dks ,d lkFk [kksyk tkrk gS] rks og Vadh fdrus le;
esa Hkjh tk ldrh gS\
(a) 2 (b) 2.5
(c) 3 (d) 3.5

87. Find compound interest on Rs. 7500 at 4% per
annum for 2 years, componded annually?

#- 7500 ij 4% izfr o"kZ pØo`f¼ C;kt 2 o"kksZa ds
fy, lkykuk la;ksftr djrs gq, gksxkA
(a) `512 (b) `612
(c) `312 (d) `412

88. Find what rate of compound interest per annum
will a sum of Rs. 1,200 become Rs. 1348.32 in 2
years?

fdl pØo`f¼ C;kt nj ij 2 o"kksZa esa #- 1200 dh
jkf'k #- 1348-32 gksxh\
(a) 6% (b) 7%
(c) 8% (d) 9%

89. What will be the compound interest on Rs.
25,000 after 3 years at the rate of 12% per
annum?

12% izfro"kZ pØo`f¼ C;kt nj ij #- 25000 jkf'k ij
3 o"kksZa dk C;kt gksxk
(a) 10123.20 (b) 10123.30
(c) 10123.40 (d) 10123.50

90. There is 60 increase in an amount in 6 years at
simple interest. What will be the compound
interest of Rs. 12,000 after 3 years at the same
rate?

6 o"kksZaa esa ljy C;kt nj ls ,d jkf'k esa 60% dh o`f¼
gksrh gSA mlh nj ij #- 12000 ij 3 o"kkZsZa dk pØo`f¼
C;kt fdruk gksxk\
(a) 3972 (b) 6240
(c) 3120 (d) 2160

91. What day of the week does May 28 2006 fall on?

A28 ebZ 2006 dks lIrkg dk dkSulk fnu Fkk\
(a) Saturday/'kfuokj (b) Monday/lkseokj
(c) Sunday/jfookj (d) Thursday/xq#okj

92. What will be the day of the week 15th August
2010?

15 vxLr 2010 dks lIrkg dk dkSulk fnu Fkk\

(a) Thursday/xq#okj (b) Sunday/jfookj
(c) Monday/lkseokj (d) Saturday/'kfuokj

93. Today is Monday. After 61 days, if will be

;fn vkt lkseokj gS] rks 61 fnu ds ckn gksxk
(a) Thursday/xq#okj (b) Sunday/jfookj
(c) Monday/lkseokj (d) Saturday/'kfuokj

94. The calender for the year 2007 will be the same
for the year

lky 2007 dk dSysaMj bl o"kZ ds fy, oSlk gh gksxk
(a) 2017 (b) 2018
(c) 2014 (d) 2016

95. If A = x% of y and B = y% of x, then which of the
following is true?

;fn A = y dk x% gS] B = x dk y% gS] rks fuEu esa ls
D;k lgh gS\
(a) A is smaller than B/A ;g B ls NksVk gS
(b) A is greater than B/A ;g B ls cM+k gS
(c) Relationship between A and B cannot be

determined/A vkSj B ds chp dk lEcU/ fu/
kZfjr ugha fd;k tk ldrk

(d) None of these/buesa ls dksbZ ugha
96. If 20% of a = b, then b% of 20 is the same as

;fn a dk 20% = b gS] rks 20 dk b% ;g blds bruk
gh gS
(a) 4% of a/a dk 4%

(b) 5% of a/a dk 5%

(c) 20% of a/a dk 20%

(d) None of these/buesa ls dksbZ ugha
97. In a certain school, 20% of students are below 8

years of age. The number of students above 8
years of age is 2/3 of the number of students of
8 years of age which is 48. What is the total
number of students in the school?

,d fuf'pr Ldwy esa 20% fo|kFkhZ vkB lky ls de
mez ds gSaA 8 lky ls cM+s fo|kfFkZ;ksa dh la[;k 8 lky
ds mezokys fo|kfFkZ;ksa dh la[;k dk 2@3 gS tks 48 gSA
ml Ldwy esa dqy fo|kfFkZ;ksa dh la[;k fdruh gS\
(a) 72 (b) 100
(c) 120 (d) 150

98. Two numbers A and B are such that the sum of
5% of A and 4% of B is two-third of the sum of
6% of A and 8% of B. Find the ratio of A : B.

A vkSj B ;g nks la[;k,¡ ,slh gSa fd A ds 5% vkSj B

ds 4% dk tksM+ ;g A ds 6% ds vkSj B ds 8% ds
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tksM dk nks&frgkbZ gSA A : B dk vuqikr irk dhft,A
(a) 2 : 3 (b) 1 : 1
(c) 3 : 4 (d) 4 : 3

99. A cyclist covers a distance of 750 meter is 2
minutes 30 seconds. What is the speed in km/
hr of cyclist?

,d lkbfdfYkLV 750 ehVj dh nwjh 2 feuV 30 lsdaM
esa iwjh djrk gSA ml lkbfdfYkLV dh fdeh-@?kaVk esa xfr gS
(a) 16 km/hr (b) 17 km/hr
(c) 18 km/hr (d) 19 km/hr

100. An athelete runs 200 meters in 24 seconds. His
speed is

,d nkSMkd 200 ehVj 24 lsadM esa iwjk djrk gSA
mldh xfr fdruh gS\
(a) 10 km/hr (b) 17 km/hr
(c) 27 km/hr (d) 30 km/hr

101. A person crosses a 600 meter long street in 5
minutes. What is the speed in km/hr?

,d O;fÙkQ 600 ehVj yEckbZ dh lM+d 5 feuV esa ikj
dj tkrk gS] rks mldh xfr fdeh@?kaVk esa gS
(a) 6.2 km/hr (b) 7.2 km/hr
(c) 8.2 km/hr (d) 9.2 km/hr

102. A man is walking at the rate of 5 km/hr crosses
a bridge in 15 minues. The length of the bridge
is

,d O;fDr 5 fdeh-@?kaVk xfr ls pyrs gq, ,d iqy dks
15 feuV esa ikj dj tkrk gSA ml iwy dh yEckbZ gS
(a) 1000 meters (b) 1050 meters
(c) 1200 meters (d) 1250 meters

103. The sum of the digits of a two-digit number is
15 and the difference between the digits is 3.
What is the two-digit number?

nks vadks okyh ,d la[;k ds vadksa dk tksM+ 15 gS vkSj
mudk vUrj 3 gSA og nks vadksokyh la[;k dkSulh gS\
(a) 69
(b) 78
(c) 96

(d) Cannot be determined/fu/kZfjr ugha fd;k tk
ldrk

104. The sum of the squares of three numbers is 138,
while the sum of their products taken two at a
time is 131. Their sum is

rhu la[;kvksa ds oxksZa dk tksM+ 138 gSA ,d oDr nks
la[;k ysrs gq, muds xq.kuiQy dk tksM+ 131 gksrk gSA
mu la[;kvksa dk tksM gS

(a) 20
(b) 30
(c) 40

(d) None of these/buesa ls dksbZ ugha
105. A number consists of two digits. If the digits

interchange place and the new number is added
to the original number, then the resulting
number will be divisible by

,d la[;k esa nks vad gSaA ;fn vadksa dks vnyk cny
dj vkussokyh ubZ la[;k esa ewy la[;k dks feyk;k tkrk
gS rks ifj.kkeh la[;k blls foHkkftr gksxh
(a) 3 (b) 5
(c) 9 (d) 11

106. In a two-digit, if it is known that its unit's digit
exceeds it ten's digit by 2 and that the product
of the given number and the sum of its digits is
equal to 144, then the number is

nks vadksokyh ,d la[;k dk bdkbZ vad n'ke vad ls
2 vf/d gS vkSj ml la[;k ls mlds vadksa ds tksM+ dk
xq.kuiQy ;fn 144 gS] rks og la[;k gS
(a) 24 (b) 26
(c) 42 (d) 46

107. How many times in a day, the hands of a clock
are straight?

,d fnu esa ?kM+h dh lwb;k¡ fdruh ckj lh/h gksrh gS\
(a) 22 (b) 44
(c) 48 (d) 24

108. How many times are the hands of a clock at rihgt
angles in day?

,d fnu esa ?kM+h dh lwb;k¡ fdruh ckj ledks.k esa gksrh
gS\
(a) 22 (b) 44
(c) 24 (d) 48

109. How many times in a day, are the hands of a
clock in straight line but opposite in direction?

,d fnu esa ?kM+h dh lwb;k¡ fdruh ckj lh/h] ysfdu
fo#¼ fn'kk esa gksrh gS\
(a) 48 (b) 22
(c) 24 (d) 12

110. At 3.40, the hour hand and the minute hand of
a clock form an angle of

3-40 cts ?kaVs dh lwbZ vkSj feuV dh lwbZ ds chp dk
dks.k gksrk gS
(a) 120 (b) 130
(c) 125 (d) 135
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111. A, B and C started a business by investing Rs.
1,20,000 , Rs 1,35,000 and Rs. 1,50,000
respectively. Find the share of each, out of an
annual profit of Rs. 56,700.

A, B vkSj C Øe'k% #-120000, #-135000 vkSj #-
150000 fuos'k dj O;kikj dh 'kq#vkr djrs gSaA muds
#- 56700 ds okf"kZd equkiQs eas gj ,d dk fgLlk irk
dhft,A
(a) `16,800, `18,900, `21,000
(b) `16,800, `19,000, `21,000
(c) `16,800, `18,900, `22,000
(d) `17,800, `18,900, `21,000

112. P and Q started a business investing Rs. 85,000
and Rs. 15,000 respectively. In what ratio the
profit earned after 2 years be divided between
P and Q respectively?

P vkSj Q Øe'k% #-85000 vkSj #- 15000 fuos'k dj
O;kikj 'kq# djrs gSaA nks o"kksZa ds ckn fdl vuqikr esa
equkiQk vkSj ds chp Øe'k% ck¡Vk tk;sxk\
(a) 3 : 4 (b) 17 : 3
(c) 15 : 23 (d) 17 : 23

113. Anand and Deepak started a business investing
Rs. 22,500 and Rs. 35,000 respectively. Out of a
total profit of Rs. 13,800. Deepak's share is

vkuan vkSj nhid Øe'k% #- 22500 vkSj #- 35000
fuos'k dj O;kikj 'kq: djrs gSaaA #- 13800 ds equkiQs esa
nhid dk fgLlk gS
(a) `5,400 (b) `7,200
(c) `8,400 (d) `9,600

114. If 4(A's capital) = 6 (B's capital) = 10 (C's capital),
then out of a profit of Rs. 4,650, C will receive

;fn 4(A dk ewy/u) = 6 (B dk ewy/u) = 10 (C

dk ewy/u) gS] rks #- 4650 equkiQs esa C dks feysxk
(a) `465 (b) `900
(c) `1550 (d) `2250

115. A man has Rs. 480 in the denominations of one-
rupee notes. The number of notes of each
denomination is equal. What is the total number
of notes he has?

,d O;fDr ds ikl ,d #i;s ds uksV] ik¡p #i;s ds
uksV vkSj nl #i;s ds uksV ds :i esa #- 480 gSaA lHkh
oxZ ds uksVksa dh la[;k ,d tSlh gSA mlds ikl fdruh
la[;k esa uksV gS\
(a) 45 (b) 60
(c) 75 (d) 90

116. There are two examinations rooms A and B. If
10 students are sent from A to B, then the
number of students in each room is the same. If
20 candidates are sent from B to A, then the
number of students in A is double the number
of students is B. The number of students in room
A is

A vkSj B ;g nks ijh{kk dejs gSaA ;fn A dejs ls B

dejs esa 10 fo|kFkhZ Hksts tkrs gSa rc nksuksa dejksa esa
fo|kfFkZ;ksa dh la[;k ,dleku gksrh gSA ;fn B dejs esa
ls A dejs esa 20 fo|kFkhZ Hksts tksrs gSa rc A dejs esa
B dejs ls nqxqus fo|kFkhZ gksrs gSaA ,sls esa A dejs esa bruh
la[;k esa fo|kFkhZ gSa
(a) 20 (b) 100
(c) 120 (d) 200

117. The price of 10 chairs is equal to that of 4 tables.
The price of 15 chairs and 2 tables together is
Rs. 4,000. The total price of 12 chairs and 3 tables
is

pkj estksa dk ewY; 10 dqflZ;ksa ds ewY; ds bruk gSA 15
dqflZ;ksa vkSj 2 esatksa dk dqy ewY; #- 4000 gSA 12
dqflZ;k¡ vkSj 3 estksa dk dqy ewY; gS
(a) `3,500 (b) `3,750
(c) `3,840 (d) `3,900

118. The price of 2 sarees and 4 shirts  is Rs. 1,600.
With the same money one can buy 1 saree and
6 shirts. If one wants to buy 12 shirts, how much
shall he have to pay?

2 lkfM;k¡ vkSj 4 dfetksa dk dqy ewY; #- 1600 gSA
mlh jkf'k esa 1 lkM+h vkSj 6 dehtsa Hkh miyC/ gSsaA ;fn
,d O;fDr dks 12 dehtsa [kjhnuh gks rks fdruh jkf'k
nsuh gksxh\
(a) `1,200
(b) `2,400
(c) `4,800

(d) Cannot be determined/fuf'pr ugha fd;k tk
ldrk

119. The angle of elevation of the sun, when the
length of the shadow of a tree, 3 times the height
of the tree, is

;fn ,d isM+ ds Nk;k dh yEckbZ mlds Å¡pkbZ ls frxquh
gS] rks lw;Z dk mÂ;u dks.k gS
(a) 30° (b) 45°
(c) 60° (d) 90°

120. At 6 : 15, the hour hand and the minute hand of
a clock form an angle of

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


VI
SI

ON CO
MPE

TI
TI

VE
 A

CA
DE

MY

14

B-1/8A YAMUNA VIHAR DELHI - 110053 Ph : 01140394447, 01143537689

 website : www.visioneduindia.com7840856786, 9958085548  follow us:

6%15 cts ?kaVs dh lwbZ vkSj feuV dh lwbZ ds chp esa
;g dks.k gksrk gS
(a) 97° (b) 90.5°
(c) 97.5° (d) 90°

121. us $ vu = u;u] blesa dkSulh laf/ gS\
(a) nh?kZ Loj laf/ (b) xq.k laf/
(c) ;.k Loj laf/ (d) v;kfn Loj laf/

122. izfr $ Nfo = izfrPNfo] blesa dkSulh laf/ gS\
(a) nh?kZ Loj laf/ (b) O;atu laf/
(c) ;.k Loj laf/ (d) v;kfn Loj laf/

123. iou dk laf/ foPNsn djsaA
(a) ikS $ vu (b) io $ vu
(c) ik $ vu (d) iks $ vu

124. vuwfnr dk laf/ foPNsn djsaA
(a) vuq $ mfnr (b) vuw $ mfnr
(c) vu $ mfnr (d) vuq $ vksfnr

125. tyksfeZ dk laf/ foPNsn djsaA
(a) ty $ ÅfeZ (b) tyks $ ÅfeZ
(c) ty% $ ÅfeZ (d) ty $ mfeZ

126. nso;kokgu dk laf/ foPNsn djsaA
(a) nsoh $ okgu (b) nsoh $ vkokgu
(c) nso $ vkokgu (d) nso $ okgu

127. uhydey esa dkSulk lekl gS\
(a) cgqohgh lekl (b) f}xq lekl
(c) deZ/kj; lekl (d) }a} lekl

128. prqHkZqt eas dkSulk lekl gS\
(a) cgqohgh lekl (b) f}xq lekl
(c) deZ/kj; lekl (d) }a} lekl

129. f=kos.kh esa dkSulk lekl gS\
(a) cgqohgh lekl (b) f}xq lekl
(c) deZ/kj; lekl (d) }a} lekl

130. Hkyk&cqjk esa dkSulk lekl gS\
(a) cgqohgh lekl (b) f}xq lekl
(c) deZ/kj; lekl (d) }a} lekl

iz'u 131&135% mDr i|ka'k ds vk/kj ij fuEufyf[kr iz'uksa
ds mÙkj nhft,A
pkg ugha gS lqjckyk ds xguksa esa xw¡Fkk tkÅ¡A
pkg ugha izse ekyk esa foa/ I;kjh dks yypkÅ¡AA
pkg ugha lezkVksa ds 'ko ij  gS gfj! Mkyk tkÅ¡A
pkg ugha nsoksa ds flj ij p<+k;k tkÅ¡
eq>s rksM+ ysuk ouekyh] ml iFk ij nsuk rqe iQsadA

ekr`Hkqfe ij 'kh"k p<+kus] ftl iFk ij tkosa ohj vusdAA
131. mDr i|ka'k dk mfpr 'kh"kZd gS

(a) ohj Hkwfe (b) 'kghn dh vfHkyk"kk
(c) iq"i dh vfHkykk"kk (d) esjh pkg

132. i|ka'k ds fufgr lUns'k gS
(a) viuk thou ns'k&lsok esa vfiZr djuk pkfg,A
(b) iQwyksa dh Hkk¡fr ;'k:ih xU/ iQSykuk pkfg,A
(c) ohj lSfud cudj nq'euksa ls yksgk ysuk pkfg,A
(d) iFk ij c<+rs jguk pkfg,A

133. ^^eq>s rksM+ ysuk ouekyh** ;g dFku gS
(a) gfj dk (b) iq"i dk
(c) ns'kHkDr dk (d) lqjckyk dk

134. i|ka'k esa iq"i dh dkSu&lh Hkkouk izdV gqbZ gS\
(a) izse&Hkkouk (b) cfynku dh Hkkouk
(c) ns'kHkfDr dh Hkkouk (d) fou; dh Hkkouk

135. iq"i dh vfHkyk"kk gS
(a) lqjckyk ds xguksa esa x¡wFkk tkuk
(b) gfj ds flj ij p<+k;k tkuk
(c) lezkVksa ds 'ko ij Mkyk tkuk
(d) 'kghnksa ds pj.k&jt dks Li'kZ djuk

136. jpuk dh n`f"V ls okD; ds fdrus izdkj gksrs gSa\
(a) 2 (b) 3
(c) 8 (d) 4

137. vFkZ dh n`f"V ls okD; ds fdrus izdkj gksrs gSa\
(a) 2 (b) 3
(c) 8 (d) 4

138. egkizk.k fdls dgrs gSa\
(a) ftu o.kksZa ds mPpkj.k esa eq[k ls de 'okl fudys
(b) ftu o.kksZa ds mPpkj.k esa eq[k ls vf/d 'okl

fudys
(c) ftu 'kCnksa ds mPpkj.k esa vf/d 'okl fudys
(d) ftu 'kCnksa ds mPpkj.k esa de 'okl fudys

139. fuEu esa ls dkSulk o.kZ vYiizk.k dks n'kkZrk gS\
(a) > (b) N
(c) .k (d) iQ

140. fuEu esa ls dkSu lk o.kZ egkizk.k dks n'kkZrk gS\
(a) V (b) M
(c) .k (d) B

141. vYiizk.k fdls dgrs gSa\
(a) ftu o.kksZa ds mPpkj.k esa eq[k ls de 'okl fudys
(b) ftu o.kksZa ds mPpkj.k esa eq[k ls vf/d 'okl
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fudys
(c) ftu 'kCnksa ds mPpkj.k esa vf/d 'okl fudys
(d) ftu 'kCnksa ds mPpkj.k esa de 'okl fudys

142. ^egku* dk L=khfyax gS
(a) egkurh (b) egrh
(c) eg=kh (d) mijksDr esa ls dksbZ ugha

143. ^dfo* dk L=khfyax gS
(a) dfo=kh (b) dof;=kh
(c) dfof=k (d) do;h=kh

144. ^usrk* L=khfyax gS
(a) usrh (b) us=kh
(c) usrk (d) mijksDr esa ls dksbZ ugha

145. ^fo}ku* dk L=khfyax gS
(a) fo}kuh (b) fonq"kh
(c) fonqf"krk (d) fonqf"k

146. fuEu esa ls dkSulk o.kZ v/ks"k O;atu gS\
(a) x (b) >
(c) p (d) Hk

147. fuEu esa ls dkSulk o.kZ v?kks"k O;atu gSa\
(a) c (b) Hk
(c) e (d) V

148. fuEu esa ls dkSulk o.kZ ?kks"k O;atu gS\
(a) M (b) r
(c) Fk (d) i

149. fuEu esa ls dkSu lk o.kZ v?kks"k O;atu gS\
(a) N (b) n
(c) .k (d) y

150. fganh dh nsoukxjh fyfi esa dqy fdrus o.kZ gSa\
(a) 52 (b) 51
(c) 45 (d) 42

151. fgnah dh nsoukxjh fyfi esa dqy fdrus Loj gSa\
(a) 10 (b) 12
(c) 11 (d) 9

152. fganh dh nsoukxjh fyfi esa dqy fdrus vuqLokj gSa\
(a) 4 (b) 3
(c) 2 (d) 1

153. fganhh dh nsoukxjh fyfi esa dqy fdrus folxZ gSa\
(a) 4 (b) 3
(c) 2 (d) 1

154. tks fØ;k deZ ds lkFk vkrh gS] mls D;k dgk tkrk gS\
(a) ldeZd fØ;k (b) vdeZd fØ;k

(c) lkekU; fØ;k (d) iwoZdkfyd fØ;k

155. jpuk ds vk/kj ij fØ;k ds fdrus izdkj gksrs gSa\
(a) 7 (b) 6
(c) 5 (d) 4

iz'u 156&160% mDr x|ka'k ds vk/kj ij fuEufyf[kr iz'uksa
ds mÙkj nhft,A
^^Hkkjrh; ukjh R;kx] cfynku] lkgl] 'kfDr rFkk lsok dh
ltho ewfrZ gSA thou ds lq[k&nq%[k esa Nk;k dh Hkk¡fr iq#"k dk
lkFk nsus ds dkj.k ;g v/kZafxuh] ij dh O;oLFkkfidk gkssus d
sdkj.k og y{eh vkSj 'yk?kuh; xq.kksa ds dkj.k og nsoh dgh
tkrh gSA LokFkZ vkSj HkksxfyIlk dks frykatfy nsdj Hkkjrh;
ukjh us vkRecfynku ds }kjk le; ij ,slh T;ksfr izTofyr dh
gS fd mlds iquhr izdk'k esa iq#"k us viuk ekxZ <w¡<k gSA
mldh 'kfDr ds vkxs rks ;ejkt dks Hkh gkjuk iM+kA ukjh dk
lEeku djds gh iq#"k dk thou&dqle lqokflr gksrk gSA
Hkkjrh; laLÑfr ds vuqlkj tgk¡ ukjh dk lEeku gksrk gS] ogk¡
nsork fuokl djrs gSaA**
156. izLrqr x|ka'k dk mfpr 'kh"kZd gS

(a) Hkkjrh; ukjh (b) ukjh dh egÙkk
(c) ukjh vkSj nsoh (d) mi;qZDr esa ls dksbZ ugha

157. Hkkjrh; ukjh ds xq.k gSa
(a) R;kx o 'kfDr (b) cfynku
(c) lkgl o lsok (d) mi;qZDr lHkh

158. ukjh dh 'kfDr ds vkxs fdldks gkjuk iM+k\
(a) Hkxoku dks (b) iq#"k dks
(c) ;ejkt dks (d) txr~ dks

159. Hkkjrh; laLÑfr eas nsorkvksa dk fuokl&LFkku ekuk x;k
gS
(a) tgk¡ ukfj;ksa dk lEeku gks
(b) tgk¡ ukfj;k¡ lEiÂ gksa
(c) tgk¡ ukfj;k¡ lkSHkkX;'kkyh gksa
(d) tgk¡ ukfj dks iq#"k ds leku vf/dkj izkIr gksa

160. ?kj dh O;oLFkkfidk gkssus ds dkj.k ukjh dk :i gS
(a) nsoh (b) v/kZafxuh
(c) y{eh (d) lgpjh

Test of Language : English
Directions for Q. No. 161 – Q. No. 164:
The classical realist theory of international relations
has long dominated both academic institutions and
the American government. Even at the birth of the
nation, early political thinkers, such as Alexander
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Hamilton, promoted a realist view of international
relations and sought to influence the actions of the
government based on this perspective. While the
classical realist school of international relations is not
entirely homogeneous in nature, there are certain
premises that all classical realists share.

The primary principle underlying classical
realism is a concern with issues of war and peace.
Specifically, classical realists ask what are the causes
of war and what are the conditionis of peace? The
members of the classical realist school mainly
attribute war and conflict to what is termed the
security dilemma. In the absence of any prevailing
global authority, each nation is required to address it
own security needs. However, each nation's quest for
security through military build ups, alliances, or
territorial defences necessarily unsetties othe
rnations. These nations react to feelings of insecurity
by engaging in their own aggressive actions, which
leas other nations to react similarly, perpetuating the
cycle.
It is important to note that for realists, unlike idealists
or liberal internationalists, international conflict is a
necessary consequence of the structural anarchy that
nations find themselves in. Whereas other schools
may see international conflict as the result of evil
dictators, historical chance, flawed socio political
systems, or ignorance of world affairs, classical realists
see war as the logical result of a system that by its
nature lacks a true central authority.
Hand in hand with this view of conflict as an inevitable
condition of the global power structure is the realists'
view of the nation as a unitary actor. Because classical
realists see international relations as a continuing
struggle for dominace, the nation an not be viewed
as a collection of individuals with disparate wants,
goals, and ideologies. The realist view requires the
formulation of a national interest, which in its simplest
terms refers to the nation's ability to survive, maintain
its security, and achieve some level of power relative
to its competitors.
Realism is not without its critics, many of whom
challenge the premise that war is the natural condition
of international relations or that there can be a truly
national interest. However, the realist school of
international relations continues to shape it has had
in describing real world interactions between nations.
161. Which of the following, if true, would best

support the classical realist theory of

international conflict as it is described in the
passage?
(a) Some countries ruled by dictators maintain

peaceful relations with their neighbours
(b) Despite the presence of a world superpower,

many countries continue to fight wars with
their neighbours.

(c) War has existed from the beginning of
recorded history.

(d) After the nations of the world form an
authoritative world court, wars deacrease
dramatically

162. It can be inferred from the passage that
members of the classical realist school would be
LEAST likely to support.
(a) a domestic policy that attempts to unify the

nations citizens behind a common cause
(b) an international policy that seeks to reduce

threats of war by providing humanitarian aid
to potential aggressor countries

(c) an international policy based on building a
strong military force to deter threats

(d) an international policy based on joining a
common defence contract with other
nations

163. According to the passage, the formation of a
national interest serves what function in the
classical realist theory of war and peace?
(a) It provides the necessary justification for the

classical realist view of a continuous global
power struggle.

(b) It is a convenience used by theorists to
describe national interests where none exist.

(c) It is less important to the theory than is the
idea of the nation as a unitary actor

(d) It is the part of the theory that receives the
most criticism from opponents.

164. The author most likely regards the classical
realist theory of international relations with
(a) general apathy
(b) sceptical dismissal
(c) qualified acceptance
(d) giowing approval

165. Find the error in following sentence:
(A) The clothes/ (B) were neatly/ (C) hanged/
(D) on the cloth stand.
(a) A (b) B
(c) C (d) D
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166. Find the error in following sentence:
(A) The captain/ (B) along with/ (C) his solders/
(D) were killed in the field.
(a) A (b) B
(c) C (d) D

167. Which of the following sentence has error?
(a) A lot of travel delay is caused
(b) Due to the inefficience and lack of good

management
(c) No error
(d) On behalf of the railways

168. Which of the following sentence has error?
(a) Were exorbitant
(b) I could not put up in a hotel
(c) No error
(d) Because the boarding and lodging charges

169. Ordered the sentence:
S1 : Calcutta, unlike other cities kepts its trams.
P : As a result there horrendous congestion.
Q : It was going to be the first in South Asia.
R : They run down the centre of the road.
S : To ease in the city decided to build an

underground railway line.
S6 : The foundation stone was laid in 1972.
The proper sequence should be
(a) RPSQ (b) QRSP
(c) PRSQ (d) RQSP

170. Ordered the sentence:
S1 :Ants eat worms, centipedes and spiders.
P : They are usually much quicker than the ant

itself.
Q : Nevertheless, these animals do not make

easy game for ants.
R : Besides, they have an extraordinary number

of ways of escaping.
S : They also eat larvae and insect adults such

as flies, months and spring tails.
S6 :Some jump, and some give out a pungent

repellent substance.
The proper sequence should be
(a) SPRQ (b) SQPR
(c) SRQP (d) SQRP

Directions for Q. No. 171-Q. No. 174:
Some parts of the sentences in the passage below are
left blank. Fill them with the best alternative.
The middle class has always preferred English as a
medium of schooling. Today, even small towns and

villages are (1) for schools in the English medium.
Wherever low-cost private English-medium schools
are available, government and non-English medium
schools are facing an (2). Political (3) aside,
corporation, government and aided schools have
started (4) English-medium sections within their
schools in response to this situation.
171.

(a) Demanding (b) Desiring
(c) Clamouring (d) Inviting

172.
(a) the heat (b) an exodus
(c) the neglect (d) the lack of students

173.
(a) Story (b) Motivation
(c) Rhetoric (d) Discussions

174.
(a) Building (b) Developing
(c) Introducing (d) Growing

Directions for Q.No. 175-Q.No. 178 :
Some parts of the sentences in the passage below are
left blank. Fill them with the best alternative.
In the new global economic order, the (1) of pursuing
higher education abroad in humanities has definitely
come under (2). The phenomenal increase in tuition
fees in countries like the UK has primary affected the
softer (3) of humanities. Thankfully, scholarships are
quite a (4) in such cases.
175.

(a) Idea (b) Thousght
(c) Ambition (d) Desire

176.
(a) Strain (b) Mess
(c) Pressure (d) Back seat

177.
(a) Streams (b) Faculties
(c) Subjects (d) Discipliness

178.
(a) Relaxation (b) Breather
(c) Hope (d) Ray

179. Synonymous of indelible
(a) Track (b) Revolt
(c) Enforce (d) Permanent

180. Synonymous of Hebetude
(a) Foolishness (b) Numbness
(c) Sharpness (d) Intelligence
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181. Antonymous of Outwit
(a) Laugh (b) Defeat
(c) Victory (d) Win

182 A child could not have done this mischief.
(a) This mischief could not be done by a child.
(b) This mischief could not have been done by

a child
(c) This mischief could not have been done by

a child
(d) This mischief a child could not have been

done.
183. James Watt discovered the energy of steam.

(a) The energy of steam discovered James Watt.
(b) The energy of steam was discovered by

James Watt.
(c) James Watt was discovered by the energy

of steam.
(d) James Watt had discovered energy by the

steam.
184. She makes cakes every Sunday.

(a) Every Sunday cakes made by her.
(b) Cakes are made by her every Sunday.
(c) Cakes make her every Sunday.
(d) Cakes were made by her every Sunday.

185. Find the wrong spelt word.
(a) Amature (b) Manual
(c) Nephew (d) Athletic

186. The conclusion of his argument, while
_________, is far from ________.
(a) stimulating - interesting
(b) worthwhile - valueless
(c) esoteric - obscure
(d) abstruse - incomprehensible

187. Find the wrong spelt word.
(a) Boundary (b) Exhibit
(c) Depresion (d) Demonstration

188. The revolution in art has not lost its steam; it
______ on as fiercely as ever.
(a) Ambles (b) Trudges
(c) Rages (d) Meanders

189. Many people at that time believed that spices
help prserve food; however, Hall found that
many marketed spices were ______ bacteria,
moulds and yeasts.
(a) teeming with (b) devoid of
(c) destroyed by (d) improved by

190. Biological clocks are of such ________ adaptive

value of living organisms, that we would expect
most organisms to ________ them.
(a) clear - avoid
(b) meager - evolve
(c) significant - eschew
(d) obvious - possess

191. ________ by nature, Jones spoke very little even
to his own family members.
(a) Equivocal (b) Garrulous
(c) Arrogant (d) Taciturn

192. Today Wegener's theory is _________; however,
he died an outsider treated with ______ by the
scientific establishment.
(a) unsupported - approval
(b) dismissed - contempt
(c) accepted - approbation
(d) unchallenged - disdain

193. The revolution in art has not lost its steam; it
______ on as fiercely as ever.
(a) trudges (b) meanders
(c) edges (d) rages

194. Each occupation has its own ________; bankers,
lawyers and computer professionals, for
example, all use among themselves language
which outsiders have difficulty following.
(a) merits (b) disadvantages
(c) rewards (d) jargon

Directions for Q. No. 195 - Q. No. 200:
A fundamental principle of pharmacology is that all
drugs have multiple actions. Actions that are desirable
in the treatment of disease are considered
therapeutic, while those that are undesirable or pose
risks to the patient are called "effects." Adverse drug
effects range from the trivial, e.g., nausea or dry
mouth, to the serious, e.g., massive gastrointestinal
bleeding or thromboembofism; and some drugs can
be lethal. Therefore, an effective system for the
detection of adverse drug effects is an important
component of the health care system of any advanced
nation. Much of the research conducted on new drugs
aims at identifying the conditions of use that maximize
beneficial effects and minimize the risk of adverse
effects.

The intent of drug labelling is to reflect this body
of knowledge accurately so that physicians can

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


VI
SI

ON CO
MPE

TI
TI

VE
 A

CA
DE

MY

19

B-1/8A YAMUNA VIHAR DELHI - 110053 Ph : 01140394447, 01143537689

 website : www.visioneduindia.com7840856786, 9958085548  follow us:

properly prescribe the drug; or, if it is to be sold
without prescription, so that consumers can properly
use the drug.
The current system of drug investigation in the United
States has proved very useful and accurate in identifyi
ng the common side effects associated with new
prescription drugs. BY the time a new drug is approved
by the Food and Drug Administration, its side effects
are usually well described in the package insert for
physicians. The investigational process, however,
cannot be counted on to detect all adverse effects
because of the relatively small number of patients
involved in premarketing studies and the relatively
short duration of the studies.
Animal toxicology studies are, of course, done prior
to marketing in an attmpt to identify any potential
for toxicity, but negative results do not guarantee the
safety of a drug in humans, as evidenced by such well
known examples as the birthh deformities due to
thalidomide.
This recognition prompted the establishment in many
countries of programs to which physicians report
adverse drug effects. The United States and other
countries also send reports to an international
program operated by the World Health Organization.
These programs, however, are voluntary reporting
programs and are intended to serve a limited goal:
alerting a government or private agency to adverse
drug effects detected by physicians in the course of
practice. Other approaches must be used to confirm
suspected drug reactions and to estimate incidence
rates. These other approaches include conducting
retrospective control studies: fro example, the studies
associating endometrial cancer with estrogen use, and
systematic monitoring of hospitalized patients to
determine the incidence of acute common side
effects, as typified  by te Boston Collaborative. Drug
Surveillance Program.
Thus, the overall drug survelliance system of the
United States is composed of a set of information
bases, special studies, and monitoring programs, each
contributing in its own way to our knowledge about
marketed drugs. The system is decentralized among
a number of governmental units and is not
administered as a coordinated function. Still, it would
be inappropriate at this time to attempt to unite all
of the disparate elements into a comprehensive
surveillane program. instead, the challenge is to
improve each segment of the system and to take

advantage of new system and to take advantage of
new computer strategies to improve coordination and
communication.
195. The author is primarily concerned with

discussing
(a) the importance of having accurate

information about the effects of drugs
(b) methods for testing the effects of new drugs

on humans
(c) procedures for determining the long-term

effects of new drugs
(d) attempts to curb the abuuse of prescription

drugs.
196. The author implies that a drug with adverse side

effects
(a) will not be approved for use by consumers

without a doctor's prescription
(b) must wait for approval until lengthy studies

prove the effects are not permanent
(c) should be used only if its the rapeutic value

outweights its adverse effects
(d) should be withdrawn from the marketplace

pending a government investigation
197. Which of the following can be inferred from the

given passage?
(a) A certralized drug oversight
(b) Most physicians are not aware that

prescription drugs have side effects.
(c) Some rare adverse drug effects are not

discovered during the limited testing.
(d) Consumers are seldom unable to understand

directions for proper use of a drug.
198. The author introduces the example of

thalidomide to show that some
(a) drug testing procedures are ignored by

careless laboratory workers
(b) drugs do not have the same actions in

humans that they do in animals
(c) drugs have no therapeutic value for humans
(d) drugs are prescribed by physicians who have

not read the manufacturer's recommendations
199. The author of the passage regards current drug

investigation procedure as
(a) important but generally ineffectual
(b) lackadaisical and generally in need of

improvement
(c) comprehensive but generally unnecessary
(d) necessary and generally effective

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


VI
SI

ON CO
MPE

TI
TI

VE
 A

CA
DE

MY

20

B-1/8A YAMUNA VIHAR DELHI - 110053 Ph : 01140394447, 01143537689

 website : www.visioneduindia.com7840856786, 9958085548  follow us:

NVS Test Paper

ANSWER KEY

1. (c) 2. (a) 3. (b) 4. (d) 5. (d) 6. (b) 7. (c) 8. (a) 9. (c) 10. (d)
11. (b) 12. (a) 13. (a) 14. (d) 15. (d) 16. (b) 17. (b) 18. (b) 19. (c) 20. (b)
21. (c) 22. (b) 23. (b) 24. (a) 25. (a) 26. (b) 27. (a) 28. (b) 29. (b) 30. (b)
31. (a) 32. (c) 33. (b) 34. (c) 35. (a) 36. (c) 37. (c) 38. (a) 39. (c) 40. (c)
41. (c) 42. (c) 43. (c) 44. (d) 45. (a) 46. (d) 47. (b) 48. (d) 49. (c) 50. (b)
51. (c) 52. (a) 53. (c) 54. (b) 55. (a) 56. (b) 57. (d) 58. (d) 59. (a) 60. (a)
61. (a) 62. (d) 63. (a) 64. (d) 65. (d) 66. (d) 67. (d) 68. (d) 69. (c) 70. (b)
71. (d) 72. (a) 73. (d) 74. (c) 75. (c) 76. (b) 77. (c) 78. (b) 79. (c) 80. (c)
81. (b) 82. (b) 83. (a) 84. (b) 85. (a) 86. (c) 87. (b) 88. (a) 89. (a) 90. (a)
91. (c) 92. (b) 93. (d) 94. (b) 95. (d) 96. (a) 97. (b) 98. (d) 99. (c) 100.(d)

101. (b) 102. (d) 103. (d) 104. (a) 105. (d) 106. (a) 107. (b) 108. (b) 109. (b) 110.(b)
111. (a) 112. (b) 113. (c) 114. (b) 115. (d) 116. (b) 117. (d) 118. (b) 119. (a) 120.(c)
121. (d) 122. (b) 123. (d) 124. (a) 125. (a) 126. (b) 127. (c) 128. (a) 129. (b) 130.(d)
131. (c) 132. (a) 133. (b) 134. (c) 135. (d) 136. (b) 137. (c) 138. (b) 139. (c) 140.(d)
141. (a) 142. (b) 143. (b) 144. (b) 145. (b) 146. (c) 147. (d) 148. (a) 149. (a) 150.(a)
151. (c) 152. (d) 153. (d) 154. (a) 155. (c) 156. (a) 157. (d) 158. (c) 159. (a) 160.(c)
161. (d) 162. (b) 163. (a) 164. (c) 165. (c) 166. (d) 167. (d) 168. (b) 169. (a) 170.(b)
171. (c) 172. (b) 173. (c) 174. (c) 175. (c) 176. (a) 177. (d) 178. (b) 179. (d) 180.(a)
181. (b) 182. (c) 183. (b) 184. (b) 185. (a) 186. (d) 187. (c) 188. (c) 189. (a) 190.(d)
191. (d) 192. (d) 193. (d) 194. (d) 195. (a) 196. (c) 197. (c) 198. (b) 199. (d) 200.(c)

200. The author is most probably leading up to a
discussion of some suggestions about how to
(a) centralize authority for drug surveillance

among international agencies
(b) centralize authority for drug surveillance  in

the United States
(c) coordinate better the sharing of information

among the drug surveillance agencies
(d) improve drug testing procedures to detect

dangerous effects before drugs are approved
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